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— 2 29¥n NN 172 I°K 2w "92% 7
Why is 217 912, because there is no other force mixed into him!

Overview

»2R maintains that the MW 7% of the 71wn comes to include XYM 11°20 112X
I MR P21 aM¥Rn M2 17911 133 WXI2 1°10w; while X297 1s of the opinion
that the MW 7% comes to include 77772 °%3721 7K *9372 2393017 N2, The R
begins each mwn 7¥ by contrasting M2 with the intended 7°%. There is
however a distinction. When contrasting 712 with n"0X the X3 asks 2% 7
12 27 AR 10 PR 1DW; however when contrasting 712 with 7323017 712, the
question is 17 M7 PwWYH PY M2 1. Seemingly the Xnx could have used
either of these N157°0 (32 27IW» MR 172 or 12 WA Pwyn) for either Mw: 7%. Our
moon will explain why by n"oRX the X913 asks from 12 27y» AR 13, and by
232307 2 the X3 asks from 12 M7 PRV,

— 99 9501 MY 599 19 1992 PYIN YN 2UN KT [NPW197] 19997 INIY
According to what I explained previously that wR is not considered wy»
Y= ya175 (that his actions caused it) since the wind assists in spreading the fire;
the Xm3 -

— 139901 12ANA 9NN 1Y 19) PYYN 1Y 992D N1 XN 799199 81 MmN
Could have challenged here and asked, do you know why =12 is 2,
because his action (exclusively) caused the damage, can you say that by
©"IN where the damage was caused by the wind as well>. The X3 would then respond
that 23 WX, that WX is also not 2 M7 PwYn (as just mentioned), [or 21 W] and
nevertheless it is 217 (just as the X3 responded 7°210 WX when the challenge was 2127 nn
12 27 MR 1D PR PW).

mooin will now explain why indeed the X3 did not ask here 12 1173 Ywyn 19w M2 an:
— 91 2XUN 12 3991 9NN NI PPN 19V NIOT 29D NON
But the reason the X773 chose not to ask here 1% m73 Pwyn is, because the
challenge of 12 292 91K 172 I°R is more effective -
— NT99) YN NON 1999 9V 9199199 NID XNNYNY
For on this challenge we cannot respond 75> 9%2; but rather only wx
ooy, If the question would have been 17 173 Pwyn 19w 2% 71 we could have responded
with either 21 WX or >3 W, for by both of them it is not 12 171 1PwynH; however when
we ask 12 27 X 12 PX 19w N2% 71 we cannot respond 2 MW for MW is also 1D PR
12 27Yn INX, we are limited in our response to only 137 wx.?

" This is to be amended to read 'n*w>1°572"; referring to 3 "7 2,7 NSO,

* Damage which is caused by the wind is not considered 12 7213 Pw¥», as Mo pointed out concerning WX.
If however w& would be considered 17 73 1"wyn, then so would n"ox, and there would be no question.

? The lesser opportunities there are to find a 27, indicate the strength of the X572,
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MooIN discusses now the other MW TY:
— 19 999) PYUYN 19V 92D N1 7299 DIDINNN M 23 NP

And later concerning deriving 93%anm»m <12 from a mwn 7Y, the Xn)

challenges Y2 17273 72w 19w 712% 7772 and not 12 27w IR 12 PR 19w M2% A1 (which,
as NvOIN just said, is a stronger X37°9). The reason is -
— 92 2999 9NN N3 PN 19V ONH TOY KT

For there (by 23730177 712) the X270 that M2 is 12 27W» AR 15 PN, is not

applicable -
=12 29999 NN N 19Y JX9NN1N 912 9IRN NI 19NT

For how will we conclude the X>7°9, by saying 72 is 71X 112 "X, however

BADANAM M2 iS 12 27PN MR N5 (referring seemingly to the 7m7aY oK 937 that are
kicking and rolling the 712)
— 9NN NI > DY NIN 912 1N NIT ynunT

This would indicate that the 732307 112 did not become a 712 through the

71277 Hv2 but rather through another force (of the 21 078 *937) -
$1 0390 MY INMINYN NN NS XY 992 HYUYI Y91V 1IN NN

However, this is not so; for it became a 712 as soon as the owner placed

the 72X in the 2''719; without any assistance from any other force. We can
argue however that a regular 712 is 12 173 Pwyn to cause the damage, but by 2323017 12
the damage was caused by the 7721 07X *237; not Pwyn exclusively.”

Summary
There is an advantage in the X37°9 of X 12 X over 173 1Pwyn for in the

former we cannot say 1°21 TW; however X 112 X is not applicable by 712
532annn, for there too there is no 12 27y» AR 1.

Thinking it over

1. According to 0N that 53%3n17 M2 is considered 12 217 MR 172 X since
the owner made the 72, then WX should also be considered 2My» X 172 PR
12, since the owner made the fire!’

2. According to mooin that WX is not considered 12 M7 Ywyn, why later
when the X713 asks by 17 173 Ywyn 19w M2 (concerning the T of M2
2323n117); does not the X3 respond 7°21 WX (but rather 7°31 w)?!

* We cannot argue that by 9393nm77 2 there is a 12 27wn X 113 to cause the damage, for as Moo
previously stated (°> "7 2,i7) [concerning Wx] that causing damage through a 71X 112 is a X727 relative to M2
who can only be ¥pn2a . It seems that the concept of 12 ¥ Ywyn is referring to causing the damage
(the prm) and 12 279wn NR 13 is referring to creating the damager (the p*1»). Therefore by 237anna M it is
not 17 173 wyn, since the actual P17 is assisted by the 07X *737; however there is no 12 27w JnX 113, since
the >1n was created by the 1127 5v2 exclusively, when the 112 was placed in the 1"777. 20K, on the other
hand, is 17 773 Pwyn PR and 12 2791 R 15 for both the > and the P71 is caused by an outside agent.

> See (the two interpretations in) previous 2 1"7 2,77 190N,
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